
catalog number: 517171

Fuel system skid plate 
Mounting instructions 

for Suzuki Jimny



B

C

A

Hex bolt M8x25

x5

E

Washer 8x24

x5

F
Washer 6X30

Spring Washer 8

x5

G

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

12



Connect front bracket (B) using original M8 (8.8) bolt
and kit M8 (8.8) bolt
Tightening torque 40Nm

Open 2 bolts. Save the bolts for later use.

12

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

12

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

12

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

12

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

Open bolt. Save the bolt for later use.

2

4

1

3

5

Connect front bracket (C) using original M8 (8.8) bolt
Tightening torque 21Nm

Connect the fuel system tank skid plate Using
kit M8 (8.8) bolts Tightening torque 25Nm

12

Push

Open Bolts

Remove Remove

Pull

Cut Out

Skid plate A

Front

Left Side

Right Side

BackLicense plate

front skid plate

wheel fender

bumper side

from winch

from battery

F
G

E

F
G

E


